.. covernment Budget and the Economy

following data caleulate Fiscal Deficit. (CBSE Sample Question Faper 2018) (1 mark)
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Solution: Fiscal deficit = Borrowings = <32 billion

Do it yourself 1

| T

In a government budget, revenue deficit is T 50000 crore and borrowings are ¥ 75000 crore. How much is the
fiscal deficit? (1 mark)

[Ans. T 75000 crore]

!

A government budget shows a primary deficit of ¥ 4400 crore., The revenue expenditure on interest payment is %
400 crore. How much is the hscal dehicit? (1 mark)
Solution: Primary deficit = Fiscal dehicis nrerest payment
Therefore, Fiscal deticit Primary dehcit + Interest payment

i L)L) gLy -r.,-l [

Do it yourself 2
A government budget shows a primary deficit of Z 3,500 crore. The interest payment is $500 crore. How much is the

[Ans. 24,000 crore]

In a government budget, if revenue receipts are < 100 crore L-I]*II-I] receipts arce 250 crore and revenue deficit is <25
crore, how much is the revenue expenditure? (1 mark)
Solution: Revenue deficit = Revenue expenditure — Revenue receipts

25 = Revenue t'hi'lL'I]i.llllJH' - 100

Revenue i.','-:!'lt_‘ll.:i!rl:rt' 25 + 100 = <125 crore

Do it yourself 3

In a government budget, if tax revenue receipts are T80 crore, non-tax revenues are ¥20 crore and revenue deficit is
250 crore, how much is the revenue expendirture? (1 mark)

[Ans. 150 crore)
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®in a'
S.Nlh Items 47 3
(i) Tax revenue e 34 i
(ii) Capital receiprs e 10
(idi) Non-tax revenue e 32 E
(iv) Borrowings A ————— 80
(v) Revenue expenditure _ 20 .|
(wvi) Interest payments —— —
s . nue)
301;;'“;.;“““: deficit = Revenue expenditure —Revente receipts (Tax revenue + Non-tax reve
_ 80 — (47 + 10) = 80— 57 = T 23 arab

(b) Fiscal deficit = Borrowings = ¥ 32 arab
(c) Primary deficit = Fiscal deficit — Interest payments = 32 -

Do it yourself 4

From the following dara about a government budger find (a) Fiscal deficit and (b) Primary deficit : (4 Illuki}?_

20 = T 12 arab

L-.-—

(T in arab)
5. No. Items =
70000
i) Revenue expenditure
(ii) Borrowin 15000 :
= 50000 ‘
(iii) Revenue receipts _ 3
- =7 25% of revenue deficit C
(iv) Interest payments
[Ans. (a) T 15000 crore (b)¥ 10,000 crore] .-I
From the following data abourt a government budget find: (6 marks)
(a) Revenue deficit
(b) Fiscal deficit
(c) Primary deficit
: S. No. Items (X in crore)
(i) Tax revenue 1037
(1) Revenue L'xprl‘ldiulr:: 7811
(iii) Interest receipts by the government on net domestic lending 400
(iv) Dividends and profits on investments 600
(v) Recovery of loans 135
(vi) Capital expenditure 574
(vii) Proceeds from sale of shares in PSUs 100
(viii) [nterest payments on accumulated debrs 1013
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Do it yourself 6
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[Ans. (3) <1,115 crore (b) T515 crore]



